Bid #BLD2115493B1 - Concrete Floor Resurfacing Services

Creation Date Mar 6, 2018 End Date Apr 4, 2018 2:00:00 PM EDT

Start Date Mar 14, 2018 5:43:20 PM EDT Awarded Date Not Yet Awarded

Stone Concept Miami Inc.

\$1,217,000.00 (33/33 items)

Bid Contact Ali Sarrafi

Address 1239 Robin Ave

alireza@scmiami.com Ph 786-309-0660 Miami Springs, FL 33166

Qualifications SB

Qualifications	SB				
Agency Notes:		Supplier Notes:			
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
BLD2115493B1- -01-01	Cementeous Tile Removal up to 1/2 inch thinset - First Offer	\$1.50	15000 / square foot	\$22,500.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
BLD2115493B1- -01-02	Cementeous Tile Removal with over 1/2 inch thinset - First Offer	\$1.50	15000 / square foot	\$22,500.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
BLD2115493B1- -01-03	Concrete Shaving - First Offer	\$1.50	50000 / square foot	\$75,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
BLD2115493B1- -01-04	Saw-cut and Removal Concrete Slab - First Offer	\$25.00	50 / cubic yard	\$1,250.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
BLD2115493B1- -01-05	Re-cast Concrete Slab - First Offer	\$35.00	50 / cubic yard	\$1,750.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
BLD2115493B1- -01-06	Vinyl or Rubber Flooring Removal - First Offer	\$2.00	10000 / square foot	\$20,000.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
BLD2115493B1- -01-07	Carpet Removal - First Offer	\$2.00	10000 / square foot	\$20,000.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
BLD2115493B1- -01-08	Chipping & Removal up to 1 inch in depth - First Offer	\$3.00	2500 / square foot	\$7,500.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
BLD2115493B1- -01-09	Chipping & Removal up to 2 inches in depth - First Offer	\$5.00	2500 / square foot	\$12,500.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
BLD2115493B1- -01-10	Concrete Polishing - First Offer	\$3.50	50000 / square foot	\$175,000.00	

4/4/2018 p. 1

crete Floor Resurfa	cing County Commi	ssioners		Page
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-11	Refloat Floor - First Offer	\$10.00	5000 / square foot	\$50,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-12	Re-Grind / Re-Polish - First Offer	\$1.00	50000 / square foot	\$50,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-13	Concrete Edge Grind & removal up to 1 inch thick - First Offer		10000 / linear foot	\$30,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-14	Clean control joints and fill with Polyurea - First Offer	\$1.30	5000 / linear foot	\$6,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-15	Concrete Moisture Test - First Offer	\$150.00	50 / each	\$7,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-16	Moisture Mitigation Primer - First Offer	\$3.00	20000 / square foot	\$60,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-17	Concrete Densifier Application - First Offer	\$1.30	100000 / square foot	\$130,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-18	Floor Patches up to 2 inches in depth - First Offer	\$5.00	2500 / square foot	\$12,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-19	6 Inch Cove Base Installed - First Offer	\$2.50	2500 / linear foot	\$6,250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-20	4 Inch Cove Base Installed - First Offer	\$2.50	2500 / linear foot	\$6,250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-21	4 Inch Intrical Cove Base Installed - First Offer	\$3.50	1500 / linear foot	\$5,250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- 01-22	Metal Transition 6 inches Wide - First Offer	\$30.00	100 / linear foot	\$3,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-23	Metal Transition up to 12 inches Wide - First Offer	\$45.00	100 / linear foot	\$4,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1-	Mobilization for projects under 5000 SF First Offer	\$300.00	30 / each	\$9,000.00

crete Floor Resurta -01-24	acing County Commi	ssioners		Page
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-25	Decontamination of Concrete Surface - First Offer	\$0.20	10000 / square foot	\$2,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-26	Surface Preparation Shot blasting or Diamond Grinding - First Offer	\$4.00	10000 / square foot	\$40,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-27	Epoxy Primer Application - First Offer	\$2.00	50000 / square foot	\$100,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-28	Epoxy Application - First Offer	\$2.50	50000 / square foot	\$125,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-29	Quartz Broadcast - to rejection - First Offer	\$2.50	30000 / square foot	\$75,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-30	Epoxy Sealer Application - First Offer	\$2.00	50000 / square foot	\$100,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-31	Miscellaneous Concrete Floor Work - First Offer	\$25.00	300 / hour	\$7,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-32	100 KVA Generator - First Offer	\$300.00	50 / day	\$15,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-33	Janitorial Services Team - First Offer	\$15.00	250 / hour	\$3,750.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Bid Allowance				\$10,000.00

ez caulking & waterproofing

\$1,539,400.00 (33/33 items)

Bid Contact edward zubik

Address 274 s military trail

ed@ezcaulking and water proofing.com

deerfield beach, FL 33442

Ph 561-756-0041

Supplier Code VC0000115608

Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
BLD2115493B1- -01-01	Cementeous Tile Removal up to 1/2 inch thinset - First Offer		15000 / square foot	\$33,000.00
Product Code: Agency Notes: Supplier Product Code: Supplier Notes:		ode:		

4/4/2018

crete Floor Resurfac	ing County Commi	ssioners		Page -
BLD2115493B1- -01-02	Cementeous Tile Removal with over 1/2 inch thinset - First Offer	\$2.50	15000 / square foot	\$37,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-03	Concrete Shaving - First Offer	\$1.10	50000 / square foot	\$55,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-04	Saw-cut and Removal Concrete Slab - First Offer	\$400.00	50 / cubic yard	\$20,000.00
Product Code:		Supplier Product Co	ode:	
Agency Notes: BLD2115493B101-05	Re-cast Concrete Slab - First Offer	Supplier Notes: \$700.00	50 / cubic	\$35,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-06	Vinyl or Rubber Flooring Removal - First Offer	\$2.00	10000 / square foot	\$20,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-07	Carpet Removal - First Offer	\$0.50	10000 / square foot	\$5,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-08	Chipping & Removal up to 1 inch in depth - First Offer	\$10.00	2500 / square foot	\$25,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
	Chipping & Removal up to 2 inches in depth - First Offer	\$15.00	2500 / square foot	\$37,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-10	Concrete Polishing - First Offer	\$4.50	50000 / square foot	\$225,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-11	Refloat Floor - First Offer	\$7.00	5000 / square foot	\$35,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-12	Re-Grind / Re-Polish - First Offer	\$6.00	50000 / square foot	\$300,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-13	Concrete Edge Grind & removal up to 1 inch thick - First Offer		10000 / linear foot	\$120,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-14	Clean control joints and fill with Polyurea - First Offer	\$6.00	5000 / linear foot	\$30,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-15	Concrete Moisture Test - First Offer	\$75.00	50 / each	\$3,750.00
Product Code:		Supplier Product Co	ode:	

4/4/2018

crete Floor Resurfa	acing County Commi	issioners		Page :
Agency Notes:		Supplier Notes:		
BLD2115493B1- -01-16	Moisture Mitigation Primer - First Offer	\$1.30	20000 / square foot	\$26,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-17	Concrete Densifier Application - First Offer	\$0.85	100000 / square foot	\$85,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-18	Floor Patches up to 2 inches in depth - First Offer	\$22.00	2500 / square foot	\$55,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-19	6 Inch Cove Base Installed - First Offer	\$4.00	2500 / linear foot	\$10,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-20	4 Inch Cove Base Installed - First Offer	\$3.50	2500 / linear foot	\$8,750.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-21	4 Inch Intrical Cove Base Installed - First Offer	\$10.00	1500 / linear foot	\$15,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-22	Metal Transition 6 inches Wide - First Offer	\$40.00	100 / linear foot	\$4,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
BLD2115493B1- -01-23	Metal Transition up to 12 inches Wide - First Offer	\$70.00	100 / linear foot	\$7,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-24	Mobilization for projects under 5000 SF First Offer	\$2,000.00	30 / each	\$60,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-25	Decontamination of Concrete Surface - First Offer	\$0.50	10000 / square foot	\$5,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-26	Surface Preparation Shot blasting or Diamond Grinding - First Offer	\$0.45	10000 / square foot	\$4,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-27	Epoxy Primer Application - First Offer	\$1.00	50000 / square foot	\$50,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-28	Epoxy Application - First Offer	\$2.00	50000 / square foot	\$100,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-29	Quartz Broadcast - to rejection - First Offer		30000 / square foot	\$30,000.00
		•		

				. ago c
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-30	Epoxy Sealer Application - First Offer	\$1.00	50000 / square foot	\$50,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-31	Miscellaneous Concrete Floor Work - First Offer	\$48.00	300 / hour	\$14,400.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-32	100 KVA Generator - First Offer	\$300.00	50 / day	\$15,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-33	Janitorial Services Team - First Offer	\$32.00	250 / hour	\$8,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Bid Allowance				\$10,000.00

Mailloux and Sons Inc \$1,966,625.00 (33/33 items)

Bid Contact Jade Mailloux

jade@maillouxandsons.com

Address 612 17th St E

STE H

Ph 041-723-1055 Palmetto El 34221

Ph 941-723-1955 Palmetto, FL 34221				
Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
BLD2115493B1- -01-01	Cementeous Tile Removal up to 1/2 inch thinset - First Offer		15000 / square foot	\$30,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-02	Cementeous Tile Removal with over 1/2 inch thinset - First Offer	\$2.00	15000 / square foot	\$30,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
BLD2115493B1- -01-03	Concrete Shaving - First Offer	\$2.00	50000 / square foot	\$100,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-04	Saw-cut and Removal Concrete Slab - First Offer	\$400.00	50 / cubic yard	\$20,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-05	Re-cast Concrete Slab - First Offer	\$500.00	50 / cubic yard	\$25,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-06	Vinyl or Rubber Flooring Removal - First Offer	\$2.00	10000 / square foot	\$20,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-07	Carpet Removal - First Offer	\$2.00	10000 / square foot	\$20,000.00

4/4/2018

rete Floor Resurfa	acing County Commi	ssioners		Page
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-08	Chipping & Removal up to 1 inch in depth - First Offer	\$3.00	2500 / square foot	\$7,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-09	Chipping & Removal up to 2 inches in depth - First Offer	\$4.00	2500 / square foot	\$10,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-10	Concrete Polishing - First Offer	\$5.00	50000 / square foot	\$250,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-11	Refloat Floor - First Offer	\$15.00	5000 / square foot	\$75,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-12	Re-Grind / Re-Polish - First Offer	\$11.00	50000 / square foot	\$550,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-13	Concrete Edge Grind & removal up to 1 inch thick - First Offer	\$2.00	10000 / linear foot	\$20,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
BLD2115493B1- -01-14	Clean control joints and fill with Polyurea - First Offer	\$6.00	5000 / linear foot	\$30,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-15	Concrete Moisture Test - First Offer	\$150.00	50 / each	\$7,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-16	Moisture Mitigation Primer - First Offer	\$3.00	20000 / square foot	\$60,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-17	Concrete Densifier Application - First Offer	\$1.50	100000 / square foot	\$150,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-18	Floor Patches up to 2 inches in depth - First Offer	\$14.00	2500 / square foot	\$35,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
BLD2115493B1- -01-19	6 Inch Cove Base Installed - First Offer	\$3.50	2500 / linear foot	\$8,750.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- ·01-20	4 Inch Cove Base Installed - First Offer	\$3.25	2500 / linear foot	\$8,125.00
Product Code:		Supplier Product Co	ode:	

crete Floor Resurfa	acing County Commi	ssioners		Page
-01-21			linear foot	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-22	Metal Transition 6 inches Wide - First Offer	\$10.00	100 / linear foot	\$1,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-23	Metal Transition up to 12 inches Wide - First Offer	\$15.00	100 / linear foot	\$1,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-24	Mobilization for projects under 5000 SF First Offer	\$3,000.00	30 / each	\$90,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-25	Decontamination of Concrete Surface - First Offer	\$1.00	10000 / square foot	\$10,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-26	Surface Preparation Shot blasting or Diamond Grinding - First Offer	\$1.00	10000 / square foot	\$10,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-27	Epoxy Primer Application - First Offer	\$1.00	50000 / square foot	\$50,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-28	Epoxy Application - First Offer	\$2.00	50000 / square foot	\$100,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-29	Quartz Broadcast - to rejection - First Offer	\$3.00	30000 / square foot	\$90,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-30	Epoxy Sealer Application - First Offer	\$2.00	50000 / square foot	\$100,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-31	Miscellaneous Concrete Floor Work - First Offer	\$45.00	300 / hour	\$13,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- -01-32	100 KVA Generator - First Offer	\$200.00	50 / day	\$10,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
BLD2115493B1- ·01-33	Janitorial Services Team - First Offer	\$35.00	250 / hour	\$8,750.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
Bid Allowance				\$10,000.00
		•		

4/4/2018 p. 9